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Set01l for No.l

U=1{3,4,5,6,7,8,9,10, 11, 12, 13}
No0I = A=15,7,9,10, 13}
B=1{3,5,6,10,11,12}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}

No02 = A=13,6,7,12, 14,16}
B=1{3,4,8,16}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
Nob3 — A=1{7,10,13}

B=1{1,2,3,7,12,15,16}
C=1{1,12,13,15,16}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}

No04 = A=1{4,7,11,12,13}
B=1{9,14,15}
I=4 U B 2=4-B 3=(4 U B)
No05 = 4=4 U B S=An (BuCC) 6=(ANnB)yu(dnC)
7=(A-B) N (4-0C) 8=4 n C 9=(C-B) -4
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Set0l Answers for No.l

areal = {7,9,13}
area? = {5,10}
area3 = {3,6,11,12} "
aread = {4, 8}
areal = {6,7,12, 14}
area? ={3,16}

n(4 n B)=2  n(4 U B)=9
2=| n(4-B)=3 n(U-(4 U B))=2
nB-A)=4 Math@MUT

Ansl =| .1 =

n(4d N B)=2  n(4 U B)=8

Ans2=| 1= aread - {4, 8] 2= n(4-B)=4 n(U-(4 U B))=7
aread = {2,5,9,10,11, 13,15} n(B-4)=2 Math@MUT
T areal = {10} i i
area2 = {7} n(intersect(4, B, C))=0 n(d-B)=2
area3 =1{2,3} n(union(4, B, C)) =9 n(B-A4)=6
sl 1 aread = {13} S n(d N B)=1 n(C N (4 U B))=5
mI= A areaS=1{ } Pl = n(B N C)=4 n(C U (4 A B))=6
area6={1,12,15,16} nd v C)=7 n(intersect(4, B, C)) =16
area7 = { } n(Bu C)=38 Math@MUT
L Larea8 = {4,5,6,8,9, 11, 14} | ]
AU B=1{4,7,9,11,12,13,14,15} | [ 1 =(A v B={areal, area2, area3})
AN B={}

2=(A' - B ={area3})
3=((4 U B) = {aread})
4=(4 v B={areal, area2, area3, area4, areal, areab } )

A U B'=1{4,56,7,8,10,11,12,13,16}
B N A=1{9 14,15}

Ans4 = A,—B= {4,7,11,12,13} . Ans5 = S5=(4 n (B v C)={area2, aread, area5})
B -4=1{5,6,8,10,16} 6=((4 N B) U (4 n C)={areal, aread, areal })
(4 U B)=1{5,6,8,10,16} 7=((A-B) n (4-C)={areal })
A N B'=1{56,81016} 8=(4" n C'={area3, area8})
L (A—B)':{S, 6,8,9,10,14,15, 16} | L .9:((C—B)’—A':{area1, area2, areal }) |
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